R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Double Hung\FL-15819.dwg, FL-15819.1

™

¥ R
WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

8400 Series
Vinyl Double Hung

Window
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010
Florida Building Code (FBC) structural requirements excluding the
"High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details.
Anchor embedment to base material shall be beyond wall dressing
or stucco.

When used in areas requiring wind bormne debris protection this
product is required to be protected with an impact resistant covering
that complies with Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the
same as that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require
further engineering analysis by a licensed engineer or registered
architect.

54" MAX. O.A. FRAME WIDTH

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures and general notes

Horizontal cross sections

Vertical cross sections

Buck and frame anchoring

Components

OO |WIN|—

Bill of materials, components & glazing details

/
J
/
i J/
L
= = pr
2 /
S /
§ /
=
5% 5
(TN
85 X
Sa
/
Va
i
1 ) — = =
47" MAX. D.L.O.
WIDTH

48.0" X 72.0" 41.0" X 31.38" G1 +460.0 -65.0
54.0" X 84.0" 47.0" X 37.38" Gl +50.0 -50.0
54.0" X 76.0" 47.0" X 33.38" G2 +65.0 -70.0

X

813.659.9197

IS~ 5.3,

P.0. Box 230 Valrico FL. 33595
uthorization No. 9813

BUILDING CONSULTANTS, INC.

Phone No.:
Lyndon F. Schmidt, P.E. No. 434

Florida Board of Professional Engineers

Certificate OfZ

Ry

Documents l?'repared By:

8400 SERIES
Vinyl Double Hung Window

PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

LFS
BY

REVISIONS

4/02/13 |UPDATE FRAME SIZE/DP/GLZ

NOJ DATE

1

DATE: 8,/2/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LES

DRAWING NO.:
FL—-15819.1

sHEer _1 oF 6

© 2012 R.W. BUILDING CONSULTANTS INC.



n
2 ﬁnﬂg
N L]
= g £ (@7
T Z—'[\ gg \:‘!‘
; .o b, ;
Va Gl g M2
f o T E 4.
/ 282 £ [u
T B ’
S0 R
¥} [+] o
~ X N
- \-o
— Y oA
1 = 2 DN T DA
w v @ v 28204
w m .
£ 8% 2 v
/ s 502 8, c
/ 4 Bad o 3
// o U <
/ 2 TE >
- - / € 5T
It
, e 0 p ) R =
<] ///, ? 9 o = é
y T 7
@ DETAIL 2 =
°
X 2 "
DETAIL 1 = =z
Qo] L8
= =
r < =L
/ R U
// 5] _Jom
/ 4 oL I N
/ S
< 3 LL},JOQ
e I T
. (=] < (&)
ES = fa
2\ S| £ |°
3 1-1/4" MIN. _ 2 <
EMB. {TYP.) - b -
73]
>
S|m

e H/AMIN, . SEE DETAIL 1
EMB. (TYP.) éf\l\ {;@ {mli - o
c SEE DETAIL 1 SEE DETAIL 1 c @@ o
. 1 1 INTERIOR
B (®) G1)G2 G2(G1 " —

3
g
. ~N v
ERRES o Lo L\ = s i N (3
PR INTERIOR BRRa ' “ . o |2
T 0 — (w—) o e NIZAa E| |
. v < o
Yq * B L g
1 < * : M = %
v = r == — = il - "
. T b= N B s Cu l, - o=
] 0 S . iy EXTERIOR =
| EXTERIOR | @@ =
SEE DETAIL 2 owre: 8/2/12
F SCALE:  N.T.S.
G 16 @@ @@ 16 D owe. BY:  JK
SEE DETAIL 2 SEE DETAIL 2 m HORIZONTAL CROSS SECTION cHk. B:  LFS
("1 "\ HORIZONTAL CROSS SECTION (2" HORIZONTAL CROSS SECTION N2/ Shownw/ TX buck ORAWING o:
\_2_/ Shown w/ 2Xbuck \_2_/ Shown direct fo masonry FL—15819.1

SHEET 2 OF 6

R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Double Hung\FL-15819.dwg, 2.1

© 2012 R.W. BUILDING BONSULTANTS ING.



RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Doubie Hung\FL-15819.dwg, 3.1

1-1/4" MIN,
EMB. (TYP.}

"

T 7
. B & - ;
I . L S

4a - ! . :
: s . Lo

- B o, ) al
« 4 -
LR PR o

. o L

"g ©
O E |

WK%
O

: INTERIOR

-

&

LTI

2 PER KEEPER

o @ 4
o= 5|
Gy

71"\ VERTICAL CROSS SECTION

w Shown w/ 2X buck

Note;
1. ltem #19 glued to item #1 frame head
with PVC Vinyl Cement.

11

EXTERIOR @@ i

INTERIOR

/4 "\ VERTICAL CROSS SECTION

w Shown w/ 1X buck

\ 12
EXTERIOR : 14
{ H 14
17 29
= (287288
=@
(o s o r‘/©
; £
Yo
I3
NS DR $

7“2\ VERTICAL CROSS SECTION

\y Shown w/ 2X buck

INTERIOR

EXTERIOR

12

16
B INTERIOR

14

G2)G1

17

C5—=i (-
.
- 0.,. Q“.q q.
‘. .V‘ - V C -
B v
. o
- a 9 -«

7“3\ VERTICAL CROSS SECTION
\3:/ Shown direct to masonry

.{%

Lyndon F. Schrmidt, P.E. No. 43

573

813.659.9197

Florida Board of Professional Engineers
horizatjion No. 9813

Certificate O‘Zﬂl f

P.O. Box 230 Valrico FL. 33595

Documents Prepored By:

BUILDING CONSULTANTS, INC.

Phone No.:

z
o]
2
(n§ 2
bl o _4,_9_
L3 |y S8
S bt S
fua)
o L ]
SER R
2319 ¢
LR
= I
G 2 l®
a
o] &
o <L
[+ 9 o
73]
>_
&l
N
o
g
N fn
| I =
NI o
o e
sl &
Bl |
v
2
a3
Q.
D
m
NE
LIS
-
s
z
oaTE: 8/2/12
SCALE:  N.T.S,
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.-
FL.—15819.1

SHEET 3 oF &

© 2012 R.W. BUILDING CONSULTANTS INE,



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Double Hung\FL-15819.dwg, 4.1

16,5 MAX. O.C.
(TYP.) —-— (T:P | 10.5" MAX. O.C. (TYP))
— 6" e
L e | SR EN TR / (TYPJA‘
T I oo =T | I {
TYP. N
SCREW LOCATED
IN BOTTOM
2XBUCK HOLE OF THE TILT ‘
il il /, = LATCH HOOK
L i FRAME ol
T 1 b 1g g
] o (-):
2X BUCK _{ L o
o. >
MASONRY gE MASONRY <
OPENING £~ OPENING N
) et
- o q B
.
SDRIE = ; a Lntk —
BUCK ANCHORING FRAME ANCHORING
2X Buck
CONCRETE ANCHOR NOTES:

1. Substifution of equal concrete anchors from a different supplier may have
different edge distance and center distance requiremenis.

2. Concrete anchor locations at the corners may be adjusted fo maintain
fhe min. edge distance to mortar joints. If concrete anchor locations
noted as "MAX. ON CENTER" must be adjusted fo maintain the min. edge
distance to mortar joints, additional concrete anchors may be required to
ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

/4

1-1/4"

2-1/2"

3n

1/4"

1-1/4

-lu

4"

NOTE: Frame anchoring screws are located as follows:

-t 10.5" MAX. O.C. {TYP.)
6"

FRAME —/

MASONRY
OPENING

[—

1X BUCK K

DIRECTTO D
MASONRY .
TYP

SCREW LOCATED
IN BOTIOM
HOLE OF THE TILT

LATCH HOCK -

DIRECTTO
MASONRY

1X BUCK

TYP.

3
(TYP.)

Interior track: above the mid-rail
Exterior frack: below the mid-rail

FRAME ANCHORING
1X Buck
Direct o masonry

15.6" MAX. O.C. [TYP.}

B R

rofessional Engineers
Lyndon F. Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9187
Flerida Beard of
Cartificate Of horization No. 9813

Ry

Documents Prepored By:

8400 SERIES
Vinyl Double Hung Window
BUCK AND
FRAME ANCHORING

PART CR ASSEMBLY:

PRODUCT:

LFS
Y

REVISIONS

4/02/13 [UPDATE FRAME SIZE/DP/GLZ

NOJ DATE

1

DATE: 8/2/12

SCALE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15819.1

SHEET _4 oF _6_

© 2012 R.W, BULDING CONSULTANTS INC.



3.84"

e 90l

@ FRAME HEAD & JAMB

1.42"

0.9

2 5]

( : )SASH STILE

#

-

1.9" ———y

(: :) TOP RAIL
Upper Sash

228

e T

0.06"

( : ) GLAZING BEAD

—

i

(: :) BOTTOM RAIL
Lower Sash

d

Y

3

( : ) KEEPER RAIL
Upper Sash

77

T

1

@ssu DAM EX

=I5

L

]

L
SRR |

L0

e

AF5% (Masonry Flange 1)

V672 (Masonry Flange 2)

OPTIONAL COSMETIC FLANGES

|<— 1.66" i

( : ) LOCK RAIL
Lower Sash

)
@
—

. HEAD ADAPTER

.28"1 L‘— ] I—'T.{é"

|t 122 ]

818

884"

a.ag

|

8 REINFORCEMENT
Alum,

- 1,08 ]

815

1.03"

18 REINFORCEMENT
Alum.

. .S;.o..? 4:3%

fessional Engineers
orization No. 9813

Lyndon F. Schmidt, P.E

P.0. Box 230 Vairico FL. 33595
B813.659.9197

Documents Prepared By:

BUILDING CONSULTANTS, INC.

FPhone No.:

Florida Begord of
Certificate Of A

8400 SERIES
Viny! Double Hung Window
COMPONENTS

PART OR _ASSEMBLY:

PRODUCT:

LFS
BY

REVISIONS

4/02/13 |UPDATE FRAME SIZE/DP/GLZ

1

NOJ] DATE

oaTE: 8/2/12

scak:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15819.1

SHEEF 5 oF 8

RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Double Hung\FL-15819.dwg, 5.1

© 2012 R.W. BUNLDING CONSULTANTS ING,



RM\A - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Double Hung\FL-15819.dwg, 6.1

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
A 1XBUCK 3G >=0.42 WOOD
B 2X BUCK SG >=0.42 wOoOoD
C 1/4' MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH ELCO OR [TW CONCRETE SCREW
E MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO AC! CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F #8 X 1-3/4" PPH WOOD SCREW STEEL
G #8 X 2" PFH WOOD SCREW STEEL
J 1/4" X 2-1/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
K 1/4" X 3-1/4" PFH ELCO OR TW CONCRETE SCREW STEEL
| FRAME JAMB* PVC
2 SILL* PVC
3 FRAME HEAD* PVC
5 SASH STILE* PVC
6 GLAZING BEAD* PVC
7 KEEPER RAIL UPPER SASH* PVC
8 REINFORCEMENT (6005-T5) ALUM
4 LOCK RAIL LOWER SASH* PVC
1 TOP RAIL UPPER SASH* PVC
12 BOTTIOM RAIL LOWER SASH* PVC
14 SILL DAM EXTENDER* PVC
16 WEATHERSTRIP ULTRA FAB .270 PILE - 270 -18758 -
17 WEATHERSTRIP SILLBULB (AMESBURY 326%0) -
18 REINFORCEMENT (6005-T5) ALUM
19 HEAD ADAPTER* PVC
20 LOCK 8513 / 8845 LAWRENCE* PVC
21 KEEPER 2700/214 LAWRENCE* PVC
23 #6 X 1-1/2"PFH (VINYL LOCK SCREWS) STEEL
24 TOP SASH TILT LATCH - ASHLAND* PVC
25 BOTIOM SASH IMPACT TILT LATCH - ASHLAND -
26 #8 X 1" PFH TEK SCREW STEEL
28 FIVOT BAR - CALDWELL -
28A [ PIVOT BAR - STAINLESS STEEL OPTION -
29 #8 X 1/2" SELF TAPPING PPH SM$ STEEL

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDCWS ARE TO BE PRODUCED BY
EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PYC EXTRUSIONS".

E 2.88"
0.41" —-—
ﬁ =] —ja ﬂ_“i
'
<Jo o | S

s

-In

. PIVOT BAR

0.3" =]

1/2" GLASS BITE ———’«—»

¥

¥ o T
Ceo 0 5 ni !

! 068" fe 1" —mr f f

. PIVOT BAR

— 1" THICK GLASS

[— L 1/8" ANNEALED
o AR SPACE
Y
: ’ T 1/8" ANNEALED
167X 1/2"
GLAZING TAPE
BY LAMATEK
INTERCEPT SPACER
@ GLAZING DETAIL
—— 1" THICK GLASS

1/2" GLASS BITE ——|~—>

| I |

N\

1/8" TEMPERED
P /

’/- AIR SPACE

16 X /2 J
GLAZING TAPE
BY LAMATEK

NI

@ GLAIING DETAIL

"~~~ 1/8" TEMPERED

INTERCEPT SPACER

I
2t
.9 oM O
gm Ly
S 20 W
I k- AR R
& "___ofr\
Eo® 52
€90 ¢
R
2359 W2
3 >, na
7 A I
Zowm BT
om L
>0 - 0o
o @ 3Z 04
Eamﬂ)'uu-.
o 3 ,% LO
a T 9 o
ED..cﬂgq;
n_mllﬂ. 4?-,'
g RS
3 o=
[=4 Lt
o o0
3
It}
<}
s}

=

Lyndon F. Schmidt, P.E. No. 43

8400 SERIES
Vinyl Double Hung Window

PART OR ASSEMBLY:

PRODUCT:

BiLL OF MATERIALS
COMPONENTS & GLAZING DETAILS

LFS
BY

4/02/13 |UPDATE FRAME SIZE/DP/GLZ

1

NOJ DATE

REVISIONS

DATE: 8/2/12

scAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15819.1

SHEET 6 oF 6

@ 2012 R.W. BUILDING CONSLLTANTS INC.



